Potencias de 10 (E)

Calcule los siguientes productos y cocientes.

3,873 x 1000

7,641 x 1000

6,781 = 1000

6,389 <1000

3,835 x 1000

3,951 = 1000

8,543 x 1000

6,551 x 1000

6,126 x 1000

4,953 x 1000

9,399 x 1000

9,475 -+1000

6,506 x 1000

4,515+ 1000

5,343+ 1000

8,456 x 1000

7,46 x 1000

3,825 x 1000

9,167 =1000

2,709 x 1000
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Potencias de 10 (E) Respuestas

Calcule los siguientes productos y cocientes.

3,873 x 1000
3.873

7,641 x 1000
7.641
6,781 = 1000
0,006781
6,389 = 1000
0,006389
3,835 x 1000
3.835
3,951 = 1000
0,003951

8,543 % 1000
8.543

6,551 x 1000
6.551

6,126 x 1000
6.126

4,953 x 1000
4.953

9,399 x 1000
9.399
9,475 -+ 1000
0,009475

6,506 x 1000
6.506

4,515 <1000
0,004515
5,343 = 1000
0,005343

8,456 x 1000
8.456

7,46 x 1000
7.460

3,825 x 1000
3.825
9,167 = 1000
0,009167

2,709 x 1000
2.709
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